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5-10. The coupling is used to connect the two shafts
together. Assuming that the shear stress in the bolts is
uniform, determine the number of bolts necessary to make
the maximum shear stress in the shaft equal to the shear
stress in the bolts. Each bolt has a diameter d.
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This problem was solved by Civil Thinking (https://civilthinking.com)
If you need solutions for Strength of Materials or any
other Civil Engineering subject, contact us at:
solutions@civilthinking.com

You can also WhatsApp us at: +916005765266 to get
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problem solutions.
Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions
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Finite Element Analysis (FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit)
Let us help you solve your engineering challenges! £
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